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1 BB

(HERWSS
X5 BEELAOHEER BEEH ZEEH BEX
2 63,166 A 33,829 A 29,337 A 5356 %
E°q 75895 A 39,146 A 36,749 A 5158 %
it 139,061 A 72975 A 66,086 A 5248 %
(2)END
X5 EELAOHEEN BEEH ZEEH BEX
2 25 A 5 A 20 A 2000 %
X 37 A 5 A 32 A 1351 %
it 62 A 10 A 52 A 16.13 %
Q) && (BERS+7E5 )
X5 EELAOHEEN BEEH ZEEH BEX
2 63,191 A 33,834 A 29,357 A 5354 %
E°q 75932 A 39,151 A 36,781 A 5156 %
ES 139,123 A 72,985 A 66,138 A 5246 %
2 BEGR
EDRR
BEHLH EMRER S
AMREHN BOEER
72984 E 71,489 = 1495 = 205 % | =
EHES EHEEERRS EHEKA CEE:
1 B B R ¥ % N #t " BB 27,403.000
2 I B R ¥ % M | I # Z 38,039.000
3 = o = # - 2,845.000
4 B A # 5% 0% E B L v A ® 3,202.000
it 71,489.000
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(MERNS
X5 BELHOREEY BEEH ZIEEW BEX
2 63,166 A 33,820 A 29,346 A 5354 %
£°3 75,895 A 39,119 A 36,776 A 5154 %
&t 139,061 A 72,939 A 66,122 A 5245 %
(2)TEN S
X5 BELHOREEN BEEH ZIEEH BER
2 25 A 5 A 20 A 2000 %
z 37 A 5 A 32 A 13.51 %
&t 62 A 10 A 52 A 16.13 %
) &&t (BRH+EHNS)
X5 BELHORHEEN BEEH ZIEEH BEX
2 63,191 A 33,825 A 29,366 A 5353 %
£°3 75932 A 39,124 A 36,808 A 5153 %
H 139,123 A 72,949 A 66,174 A 5243 %
2 REKR
EDOAR
BELHK BOBRE e
BFOEE BOREY
72948 ZE 70,656 = 2292 E 314 % my -
B B & 5 & # & 8B & B % & T FE %
1 B =2 K £ 5 22,002.000
2 =] ¥ # I3 5 6,445.000
3 1t = K * 5 1,207.000
4 E3] E K F 5 6,782.619
5 VN A 5 4,897.000
6 =] ¥:N H # ) = 3,242.000
7 e B 5 1,910.000
8 k2 = B * 5 18,691.380
9 n Ly o) # # #A 5,479.000




THEFE10A27BT REFHFHFIEEREE KREFRGAITRARR)

1 BB

(HERS

X 5 | EBLEOEEER| B’ E & N ZEE M B OE X
5 63,166 A 33549 A 29617 A 53.11 %
£°g 75895 A 38,801 A 37094 A 5112 %
&t 139,061 A 72,350 A 66,711 A 5203 %

(2) 755

X 5 | EBLEOEEER| B E F N ZEE M B OE X
5 25 A 4 A 21 A 16.00 %
T 37 A 4 A 33 A 1081 %
& 62 A 8 A 54 A 1290 %

() BE (ENH+ENSD)

X 5 | EBLAOEEER| B’ E F N ZEE M B OE X
5 63,191 A 33553 A 29,638 A 53.10 %
£°g 75,932 A 38,805 A 37127 A 5110 %
& 139,123 A 72,358 A 66,765 A 5201 %

2 BEHR
p.3 » i R
BE R K BB ER % %
EHREHR BYOBEHR
72352 = 70563 = 1,789 = 247 % |, . -
BREAET S EoEmelsly |
AHERS (remmicis | (remmicy | Loom & F
BEH) ANRELEL0))
E & B 5,709 64,854 0 70,563
=l EEF 5,421 65,142 0 70,563
5B EE 5,849 64,714 0 70,563
T KRKIE F 5,103 65,460 0 70,563
5 % N 1E 5137 65,426 0 70,563
A fE 5,037 65,526 0 70,563




